
SAP ABAP table TJKSDRETURNDEL {Assignment of Delivery Quantities}

TJKSDRETURNDEL

MANDT [CLNT (3)]

CONDITIONNR [INT2 (5)]

CONDITION1 [CHAR (30)]

CONDITION3 [CHAR (30)]

MULTIPL_Q1 [CHAR (30)]

MULTIPL_Q2 [CHAR (30)]

MULTIPL_Q3 [CHAR (30)]

MULTIPL_Q4 [CHAR (30)]

MULTIPL_Q5 [CHAR (30)]

MULTIPL_Q6 [CHAR (30)]

MULTIPL_Q7 [CHAR (30)]

MULTIPL_Q8 [CHAR (30)]

MULTIPL_Q9 [CHAR (30)]

MULTIPL_Q10 [CHAR (30)]

T000

MANDT [CLNT (3)]

 TJKSDRETURNDEL-MANDT = T000-MANDT 

0..N

1

TJKSDRETURNCOND

MANDT [CLNT (3)]

FUNC [CHAR (30)]

 TJKSDRETURNDEL-CONDITION1 = TJKSDRETURNCOND-FUNC 

0..N
1

 TJKSDRETURNDEL-CONDITION3 = TJKSDRETURNCOND-FUNC 
0..N

1

TJKSDRETURNMULD

MANDT [CLNT (3)]

FUNC [CHAR (30)]

 TJKSDRETURNDEL-MULTIPL_Q1 = TJKSDRETURNMULD-FUNC 

0..N

1  TJKSDRETURNDEL-MULTIPL_Q10 = TJKSDRETURNMULD-FUNC 

0..N

1
 TJKSDRETURNDEL-MULTIPL_Q2 = TJKSDRETURNMULD-FUNC 

0..N

1  TJKSDRETURNDEL-MULTIPL_Q3 = TJKSDRETURNMULD-FUNC 

0..N

1

 TJKSDRETURNDEL-MULTIPL_Q4 = TJKSDRETURNMULD-FUNC 

0..N

1

 TJKSDRETURNDEL-MULTIPL_Q5 = TJKSDRETURNMULD-FUNC 
0..N

1

 TJKSDRETURNDEL-MULTIPL_Q6 = TJKSDRETURNMULD-FUNC 
0..N1

 TJKSDRETURNDEL-MULTIPL_Q7 = TJKSDRETURNMULD-FUNC 

0..N

1

 TJKSDRETURNDEL-MULTIPL_Q8 = TJKSDRETURNMULD-FUNC 

0..N

1

 TJKSDRETURNDEL-MULTIPL_Q9 = TJKSDRETURNMULD-FUNC 

0..N

1


